0000 1Iooono #120 00

gooo 6.1 gboooooboboooooobooobo
()00 y=f(x)DUO0O POOOOPUOOOOOOOD 0000000 NOPOO 20O0ODO

oo0ooo0o0 Quoboooo NOOOOOOoOoOoooo
(2)00 y=f(z)OOOOD POODOOPUOODOOOU 0000000 SOyOOGQooQoOo

Orooooo pODDO STOOOODOOO
(3) 0000000000000 000O00O00O0O0 2000000000000 kODODOODO

gOO000000o000O000o000D000CODOO0DOOOOODO

(1) O P(z,y)00000000000Y =y (X-2)+y00000000000

1
Y=—-X-2)+y

/

1
00D0DONOODDDOOO0O0O0D0DOO (20,00 000000=—~—(z0—2)+y0000000
Y
x—2xz 000000000 C(O0O)00O0O0OOooooO

yy==C

good
(2) 000ODOO0OO (1)0000
Y=y(X-2)+y

000070000 (0,2y) 000 2y=¢(0—2)+y 00000000000
yr+y=0

0000

(3) 00000000 FOOOO «0O0OOmOD00OOO

F=ma

0000000000000000000000000000000000F =mg—k?0000
gbooooooboooon

mg — kv? = mv’
oooo
o000 6.2 0OOOOOOOOOOO
Dyy +x=0 (20000 6.1 (1)OOOOOOOOOO
3)0000 61 (2)D00000O0O00OO (4000061 (3)D0000DO0O0O0OO

gboooobooood



d
(1) yd—y+z:0DDDDydy= —mdxl][ll][l[ll][ll][ll][ll]/ydy:—/xdwl][l
X
1 1
§y2:—§x2+CDDDDDDD
2?4+ y? =2C
0ooo
d 1
2) yd—yzcmm ydy=Cde 000000 ¢’ =Cr+C 0000000
X

y:i Cm—i—Cl

ggoo

d 1 1
(3) xd—y—i—y:ODD —dy=——dz 000000logly| = —log|z|+C; 000 0C; =logC
T Y T

DDDDDlog\y|:log£DDDDDDD

||

y=i£
x
ggoo
d 1
(4) mg—kaZm—UDD ——dv=dt0000
dt L
m

dv =dt

1 1 n 1
2\/9 [ k [ k
f \/g_ E’U \/§+ E'U

gbobooooooboo
k
\/g—\/EU

2\1/§<\/flog<\/§+\/§v>—\/?log >=t+01

[ k
ooooooobe=000000 g—/—ov>00000000000000000000
m

ggood
k
VIt —v
log 77: :2\/§ 7(154’01)
V= v
goooon
k
VIt —v
7: exp<2\/§ (t+C’1)>
VI
ggoooon
exp<2\/§ (t+C’1)>—1
m
’U:\/§ ?



ggddt—ooddnon U—>\/@/%DDDDDDDDDDDDDDDDDDD \/@/%D
googono



